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（9次） 1. The wooden cases must be secured by overall metal

strapping so that they can be strong enough to stand rough handling

during ______. （05/6） A） transit B） motion C） shift D）

traffic 2. These continual ________ in temperature make it

impossible to decide what to wear. （04/6） A） transitions B）

transformations C） exchanges D） fluctuations 3. In order to keep

the line moving, customers with lengthy ____ are required to do

their banking inside. （03/12） A） transit B） transactions C）

turnover D） tempos 4. Retirement is obviously a very complex

_____ period. and the earlier you start planning for it, the better. 

（03/6） A） transformation B） transmission C） transaction D

） transition 5.The ________ from childhood to adulthood is

always critical time for everybody. （01/6） A） conversion B）

transition C） turnover D） transformation 6. Cultural ________

indicates that human beings hand their languages down from

onegeneration to another.（01/1） A） translation B） transition C

） transmission D） transaction 7.There is much I enjoy about the

changing seasons, but my favorite time is the ______ fromfall to

winter. （00/6） A） transmission B） transformation C）

transition D） transfer 8.He attends to the _______ of important

business himself. （98/6） A） transaction B） transition C）

transmission D） transformation 9. It will be safer to walk the streets



because people will not need to carry large amounts of cash. virtually

all financial _______ will be conducted by computer. （97/6） A）

transactions B） transmissions C） transitions D） transformations

Accommodate（3次） 1. It is a well-known fact that the cat

family______lions and tigers. （05/6） A） enriches B）

accommodates C） adopts D） embraces 2. They used to quarrel a

lot, but now they are completely ____with each other. （03/9） A）

reconciled B） negotiated C） associated D） accommodated 3. In

this poor country, survival is still the leading industry. all else is

______.（98/1） A） luxury B） accommodation C）

entertainment D） refreshment Administer（3次） 1. The Chinese

Red Cross ____a generous sum to the relief of the victims of the

earthquake in Turkey. （03/9） A） administered B） elevated C

） assessed D） contributed 2. Their diplomatic principles

completely laid bare their ________ for world conquest.（01/1） A

） admiration B） ambition C） administration D）orientation 3.

Although it was his first experience as chairman, be ________ over

the meeting with great skill. （98/6） A） presided B）

administered C） mastered D） executed Acquaint（2次） 1. The

author of the report is well ________ with the problems in the

hospital because he has been working there for many years. （01/6）

A） acquainted B） informed C） accustomed D） known 2. They

are well _______ with each other since they once studied in the same

university. （98/6） A） identified B） recognized C）

acknowledged D） acquainted Activate（2次） 1. Lighting can be

used not only to create an atmosphere, but also to ________ features



of the house, such as ornaments or pictures. （05/1） A） highlight

B） underline C） activate D） upgrade 2. The medicine ____ his

pain but did not cure his illness. （02/6） A） activated B）

alleviated C） mediated D） deteriorated 100Test 下载频道开通，
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